Probability Notes
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“probability of A occurring given that B has occurred”

Example 1:

Probability of Calen on time given that it rains is 60%.

Probability of Calen on time given that it doesn’t rain is 80%.

Probability of rain is 40%.

A = Calen on-time

B = raining
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What is the probability of Calen going to school on time?

Tree Diagram
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( probability of Calen going to school on time (mutually exclusive)
0.24 + 0.48 = 0.72
Given that he got to school on time, what is the probability that it rained?
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 ( Bayes’ Law

Example 2:

Probability of having a disease is 0.01%.

Given that if you have the disease, it tells you correctly for 99% of the time.

Given that if you don’t have the disease, it tells you correctly for 97% of the time.

A = you have the disease

B = it tells you correctly
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